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section1 SEAGErSA
Listening Comprehension

The listening comprehension section for the examination is designed to test your ability
to understand spoken conversations and lecture presentations. All answers in this
section should be based only upon what is stated or implied by the speakers. You
should not take notes or write in your test book at any time. You should not turn the
pages unti! you are told to do so.

Part A

Directions: In part A you will listen to short conversations between two people.
After each conversation, there will be a spoken question about the conversation. None
of the conversations or questions.will be repeated. After you hear the conversation
and the question, read the answers written in your workbook and select the most
appropriate answer. Then, on your answer sheet, find the number that matchest
question you are answering and fill in the letter which corresponds to the answer you
have selected. '

Listen to an example. Sample Answer

On the recording you will hear:

In your workbook ., you will read:
(A) He will have some time to do it later.
(B) Any time but now is okay with him.
(C) The woman should pick up the time.
(D) He would like to check the report now.

You learn from the conversation that the man is ready to read the report. The best

answer to the question "What does the man mean?" is (D), "He would like to check
the report now." Therefore, the correct answer is (D).
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(A) How does he understand it?

(B) He rarely sees the show.

(C) Who is on this program?

(D) It is hard to watch the show for
a long time.

(A) It is the wrong kind of machine.

(B) He should try again.

(C) He has to use the right coins.

(D) The coin should be mounted
towards the back.

(A) She doesn't know why that is.

(B) Half of the class has failed their
assignments.

(C) No one else has failed an
assignment. ,

(D) She doesn't think it is
surprising.

(A) Take care of his headache.
(B) See a doctor for a physical.
(C) Get his car repaired.

(D) Get his table lamp fixed.

. (A) Take care of the children.
(B) Bring the children to school.

(C) Move the children to the school.

(D) Take the children to a movie.

(A) She doesn't have time to help.

(B) She doesn't want 1o help the man.

(C) She owns her own.

(D) She has already helped him once
before.

(A) Don't talk about his composition
skills.

(B) Mike has no composure.

(C) Mike will be fine.

(D) Mike has difficulty explaining his
ideas.

(A) He would not wage the thought.

(B) He isn't paid enough.

(C) The car isn't for sale.

(D) He has already. spent all his
wages.

(A) She will try it one more time.

(B) She's satisfied with the service.

(C) She will no longer do business
with the company.

(D) She still wants to have the
reservation.

. {A) Examining boxes.

(B) Stocking a store.
(C) Arranging a display.
(D) Moving.
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. (A) A plumber.

(B) An electrician.
(C) A designer.
{D) Anexaminer.

{A) It's not right.

{B) She knows what time it is.
(C) It s likely to happen.

(D) It is worth the wait,

. (A) Her father should agree to

retire.
(B) Her father is agreeable.

(C) Her father likes being retired.

(D) Her father also agrees.

. (A) They need to help with the

sign on the desk.
(B) The pool is almost closed.
(C) They need to leave.
(D) They need to read the sign at
the front desk.

. (A) Finish her lesson.

(B) Start graduate school.
(C) Take a week of vacation.
(D) Complete her written work.

-3

to.

17.

18.

20.

(A) Sheis a good typist.

(B) Sheisn't available.

(C) She has been having probiems
seeing, .

(D} She doesn't have the ietter.

(A) She will say it again. )

(B) She wants to say how she feels.
(C) She feels the same as the man.
(D) She wants to stay.

(A) She wasn't able to get the
right-sized shorts.

(B) The shorts were all gone.

(C) Shedidn't want to go out
without new shorts.

(D) The store was closed.

(A) He hasn't had any.

(B) He doesn't like it that much.

(C) He liked the first one better.

(D) He wants the same kind he had
the last time.

(A) They won't have dinner.

(B) They don't need any more piates.

(C) They will only get as many plates
as they need.

(D) They don't have enough plates.



21. (A) She doesn't think he wants to
£0.
(B) She believes it will continue to
rain.
{C) She doesn't know if Bob is at
home.
(D) She thinks he should be careful

22. (A) He received approval of his
topic easily.
(B) His new topic is difficult.
"(C) He hasn't received his
instructor's approval.
(D) He didn't need his instructor’s
approval before.

23. (A) They will make something to
eat.
(B) They should go running first.
(C) They should go shopping.
(D) He will run to the city quickly.
24. (A) Decide on a major before she
takes classes.
(B) Make a list of majors that
she likes best.
(C) Take the first major that is
easy enough for her.
(D) Try classes in several different
majors.

© 25. (A) Asking for directions.

(B) Helping the woman clean the
house.

(C) Trying on clothes.

(D) Stretching before exercising.

i
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26.

27.

28.

29.

30.

4

{A) He has been working on his paper
constantly.

(B) He has been writing 23 pages a
day.

{C) He has spent a quarter of his
‘time working on it.

(D) He is alinost done.

(A) Stretch her back.

(B) Continue waiting,

(C) Talk to the doctor for a long time.

(D) Take the appointment off her
schedule.

(A) The action on the tennis court
was exciting.

(B) Debbie will take the other girl to
court.

(C) Debbie was hurt badly.

(D) Debbie was hurt on the swing.

(A) Itis very fascinating.

(B) She is planning to open a new
salon.

(C) She has just begun.

(D) She hasn't found a single job
opening.

(A) The man reads too much.

(B) The woman isn't familiar with
Bill.

(C) She thinks Jeannie looks upset.

(D) She thinks the man is making
assumptions.



Part B

Directions: In this part, you will hear longer discussions. At the end of each
discussion, there will be several questions. None of the spoken information will be
repeated.

After you have heard the question, select the best answer from your workbook. Find
the corresponding number on your answer sheet and fill in the space for the answer

you have chosen.

Please, do not take notes or write in the workbook.



31 (A) It was easy.
(B) He couldn' finish it.
{C) When he returns, he will
complete it.
(D) He has completed the project.

32. (A) A coming week.
(B) Two weeks before.
(C) Later than he thought.

(D) Later than when he turned it in.

33. (A) He wanted to have a vacation.
(B) He needed help on his project.
(C) He had a family affair to attend
to.
(D) His sister had died.

34. (A) They both graduated at the

sane time

(B) His older brother graduated
first

(C) His younger brother hasn't
graduated.

(D) His plder brother:is very
successful.

35,

36.

37.

38.

(A) The man is a doctor; the woman
is a nurse.

(B) The man is a dentist and the
woman is a patient.

(C) The man is a teacher; the woman is
a student.

(D) The man is a-pharmacist; the woman
is a customer.

(A) Next week.

(B) Within the hour.

(C) After she sees her friend.
(D) When she is put to sleep

{A) Get her cavity filled immediately.
(B) Hide the pain.

(C) Take along run.

(D) Fear her pain.

{A) She is in pain.

(B) Sheis hungry. |
(C) She doesn't trust the man.
(D) She has a cavity.



Part C

Directions: In this part, there will bé several talks or lectures. After each talk, there
will be a series of questions. None of the lectures or questions will be repeated

After you have heard the question, select the best answer from your workbook. Find
the corresponding number on your answer sheet and fill in the space for the answer
you have chosen. '
Here is an example.
On the recording you will hear:
Now listen to the first sample question. Sample Answer
In your workbook, you will read:
(A) How the tone of a piano i5 affected by its shape.
(B) How to measure a piano's resonance.
(C) How size makes a piano more expensive. -
(D) How to improve your performance with a good piano.
The best answer to the question "What is the.main concern of the talk?" is (A).
"How the tone of a piano is affected by its shape." Therefore, the correct answer is
(A).
Now listen to another sample question. Sample Answer
In your workbook you wili read:
(A) Piano manufacturers
(B) Piano tuners
(C) Music students

(D) Piano buyers

The best answer to the question "Who might be attending the lecture?" is (C),
"music students.” Therefore, the correct choice is (C).

Remember, you may not write in your workbook or take notes.

-
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39.

40

41

42.

43.

44,

(A) History teachers don't care.

(B) Students dre too lazy.

(C) The professors don't make it
interesting.

(D) Students think history is not
important.

(A) She was brief and to the point.
(B) She described things like a news
reporter on the radio.

(C) She'made the events sensible.
(D) She made history into a system.

(A) He trained soldiers.
(B) He was a smith.

(C) He was a silversmith,
(D) He was a politician.

(A) 1772,
(B) 1777.
(€) 1775.
(D) 1774,

(A) The speaker is the president -
of the university.

(B) The speaker is a registrar.

(C) The speaker is the head of the
class.

(D) The speaker is a student.

(A) Professors.

(B) The employees of the university.
{C) New students. '
(D) The professors.

45

46.

47.

48.

49.

50.

(A) The student handbook.

(B) At the registration desk.
(C) From the speaker.

{D) At the insurance office.

(A) Follow the directions.

(B) Talk to a financial aid
counselor,

(C) Go to the gym.

(D) Get insurance.

(A) David James.

(B) David James and the Indians.

(C) The Dutch relations with the
Indians.

(D) The Sioux trading patterns.

(A) Rhode Island.
(B) Spain.

(C) Denmark.
(D) Holland.

(A) Hunting rights.

(B) Helping the Sioux with money.
(C) Establishing land boundaries.
(D) Trade rules.

(A} Before the Revolutionary War.
(B) In a battle of the Revolution.
(C) In the 17th century.

(D) In 1757,



Section 1. BERE-UPALS
Listening Comprehension

The listening comprehension section for the examination is designed to test your ability
to understand spoken conversations and lecture presentations. All answers in this
section should be based only upon what is stated or implied by the speakers. You
should not take notes or write in your test book at any time. You should not turn the
pages until you are told to do so.

Part A

Directions: In part A you will listen to short conversations between two people.
After each conversation, there will be a spoken question about the conversation. None
of the conversations or questions will be repeated. After you hear the conversation
and the question, read the answers written in your workbook and select the maost
appropriate answer. Then, on your answer sheet, find the number that matchest
question you are answering and fill in the letter which corresponds to the answer you
have selected.

Listen to an example. Sample Answer

On the recording you will hear:

In your workbook | you will read:
(A) He will have some time to do it later.
(B) Any time but now is okay with him.
(C) The woman should pick up the time.
(D)- He would like to check the report now.

You learn from the conversation that the man is ready to read the report. The best

answer to the question "What does the man mean?" is (D), "He would like to check
the report now.” Therefore, the correct answer is (D).
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(A) Writing a report.

(B) Filling out an application
(C) Writing a letter.

(D) Giving a receipt

{A} He's going to the eignth-floor.

(B) He gets off work at eight

o'clock.
(C) He has already eaten too
(D) He does not get off in time.

(A) The meeting has been cancelled.
(B) The meeting will be held in the

hallway.

(C) The man did not notice her in the
hallway

(D) There was an announcement in
the hallway

"(A) They will have to cancel their

class
(B) The room is available on
weekdays
(C) His class will be special.
(D) They cannot use the room.

(A) Get her machine fixed

(B) Talk to Jenine.

(C) Answer Jenine's questions.
(D) Hold Jenine.

PETO

(A) They shouldstop to buy. a map.
(B) They should check their directions
again
(C) They should see if there is a map
“in the car. )
{D) They should wear gloves if they
open the box

(A) Take off in a couple of minutes.
(B) Start the hike

(CY Wait for the remaining students
(D) Organize a couple of hikes.

(A) He will be leaving now.
(B) He would like to come up to see
her
(C) She can ieave the cake with him
{D) She can make the decision
“herself.

{A) The lockers are not safe

(B) The lockers are too expensive

(C) They will take longer than the
woman thinks.

(D) It is better to be safe than sorry

(A) Examining stolen goods

(B) Referring to a map

(C) Watching the view from the
house

(D) Looking at some pictures
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. (A) He might not ¢atch his train.

(B) She should watch him as he
leaves.

{C) He.wants to know if she will
miss um.

(D) He will stay with her

. (A) She misses the people who

have died.

(B) lJoeis late to send in his
taxes.

(C) Joe owes taxes on the money
he inherited. '

(D) Now that the deadlimne is passed,

he can file his taxes.

. (A) Scott didn't want to have a

barbecue.
(B) Scott will bring half a-pizza.
(C) Scott will bring his roommate.

(D) Scott probably won't be coming.

(A) The doctor is a difficult man.

(B) She could not get the

(C) It was hard to read the
doctor's writing

(D) It is tough to make it out of the
office with a prescription.

. (A) He doesn't like the weather.

(B) His sister is injured.
(C) His boots don't fit.
(D) His leg burts

20.

~11-

(A) He could chop the bushes down

(B) He could make the bushes look
more orderly.-

(C) He could replace them with
squares.

(D) He could change them in his
mind. ’

. (A) He should go for a jog.

(B) He should choose some different
shorts. :
(C) He shouid send for them through
" acatalog.
(D) He should choose an easier
exercise.

. (A) Buying a ticket to the theater.

(B) Picking up a rental car.
(C) Talking to his wife.
(D) Planning a trip on a plane

. (A) He didn't know the film.

(B) He has never enjoyed watching
films.

(C) He would prefer to finish it.

(D) He wasn't sure about the ending

(A) Kenny has asked someone to
clean the storage

(B) She didn't remember to clean
the storage.

{C) Keeny has taken care of it

{D) She toid Kenny to give the keys
to her
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21

22.

23.

24.

25.

(A) He has a small storage space.

(B) He needs to head the other way.

(C) There's enough room if each
person takes turns.

(D) 1t is his turn to head to the
storage space.

(A) He should go to the next chair
over.

(B) She will help him move the
paper.

{C) He should get something to
stand on.

{D) It's all over, so he doesn't need
a ladder,

(A) She is going towards the
mountain,

(B) She has made a new path.

(C) She wants to sit outside by
the mountain,

(D) She is going to camp at the
mountain.

(A) Nobody can doit.
(B) It cannot be handled.

(C) Greg is the best man for the job.

(D) Greg cannot handle it either.

(A) He will only do it if she wants
him to,

(B) The chances are that he will
not graduate. ’

(C) He cannot risk graduating
early. .

(D) He wants to graduate this
semester,

26

27.

28.

29,

30.

12-

. (A) The weather is normal.
(B) It won't rain hard till June.
(C) It is an unusual amount of rain.
(D) The rain would be unusual, but
it is common in June.

(A) He doesn't think Joe deserved
the award.

(B) He thinks Joe's topic was silly.

(C) He doesn't understand the
judgement.

(D) He didn't know there would be
awards.

(A) The book is only sold outside
the store.

(B) They don't have the book.

(C) There are four different editions of
the book.

(D) They no longer carry that subject.

{A) The wind has'made it comfortable.

(B) It wasn't as clear and cool as the
man had expected.

(C) The man expected it to be hot.

(D) The wind hasn't made it any
hotter.

(A) He is not that interested.

(B) He doesn't have time to wait
either. -

(C) He doesn't know which door she
will come through.

(D) He:is excited to see Paula's
reaction.



Part B

Directions: In this part, you will hear longer discussions. At the end of each
discussion, there will be several questions. None of the spoken information will be
repeated. :

After you have heard the question, select the best answer. from your workbook. Find
. the corresponding number on your answer sheet and fill in the space for the answer

you have chosen.

Please, do not take notes or write in the workbook.
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